
Free Questions for H12-831_V1.0 by vceexamstest

Shared by Pate on 20-10-2022

For More Free Questions and Preparation Resources

Check the Links on Last Page



Question 1
Question Type: MultipleChoice

As shown in the figure, configure a backhaul summary route 10.0.0.0/24 on the border route RT1. next hop

to RT2. At the same time, the default route to the external network is configured. At this point, a routing black hole will appear. The

following is about routing

Is the black hole statement correct? (multiple choice)



Options: 
A- Configuring black hole routing can solve the routing black hole problem

B- Routing black hole has no impact on the network and can be ignored

C- Precise routing $ can always avoid routing black holes

D- If the terminal in the network sends data packets to the network segment that does not appear on the internal network, a loop will

occur

Answer: 
A, C, D

Question 2
Question Type: MultipleChoice

Ethernet is a network that supports broadcasting, and once there is a loop in the network, this simple broadcasting mechanism can

cause catastrophic consequences. Which of the following phenomena may be caused by loops



Options: 
A- The device cannot log in remotely

B- pass throughPINGSerious packet loss during network test with command

C- CPUOccupancy exceeds70%

D- use on the deviceDISPLAY INTERFA, CEcommand to view interface statistics, it is found that the interface receives a large number of

broadcast message

Answer: 
A, B, C, D

Question 3
Question Type: MultipleChoice

What characteristics must a high-risk operation plan have?

Options: 
A- with verification



B- Strong operability

C- accurate

D- can return

Answer: 
A, B, C, D

Question 4
Question Type: MultipleChoice

Which of the following reasons may cause the hosts in the same--VLAN LAN to fail to communicate with each other

Options: 
A- port isolation is configured on the switch

B- the wrong port is configured on the machine, andMA, Caddress binding

C- interface is artificialshutdownor the physical interface is damaged

D- switchMA, Caddress learning errors



Answer: 
A, B, C, D

Question 5
Question Type: MultipleChoice

A campus deploys OSPF to implement network interworking. The LSDB of R2 is shown in the figure. From this LSDB. it is possible to

What information was obtained?



Options: 
A- ArealNone inType3 LSA. maybeR2in the area1In the correct directiontype3 LSAfiltered

B- Area 1forNSSAarea

C- R2WillType7 LSAThe default route is converted toType5 LSAdefault route for

D- R2existOSPFThe default route is delivered in the process

Answer: 
B, D

Question 6
Question Type: MultipleChoice

Which of the following are static information coke analysis?

Options: 
A- Interface Type



B- Packet loss rate

C- License

D- Equipment type

Answer: 
A, C, D

Question 7
Question Type: MultipleChoice

According to this diagram, can we break the



Options: 
A- system-IDforee8c.a0c2.baf2The device' whose type isLevel-1

B- system-IDforee8c.a0c2.baf2device whose type isLevel-1-2

C- R4belong only toLevel-1

D- R4dry onlyLevel2

Answer: 
B, C

Question 8
Question Type: MultipleChoice



According to this picture, cooked I'] can be judged?

Options: 
A- R1ofGE0/0/1Interface is not enabledIS-IS IPv6

B- R1ofGE0/0/1interfaceIS-ISThe interface type isLeve-1

C- R1ofGEO/O/OinterfaceIS-ISThe interface type isLevel-1-2

D- R1ofGEO/O/Ointerface is enabledIS-IS IPv6

Answer: 



C, D

Question 9
Question Type: MultipleChoice

Which of the following actions may affect the normal operation of the customer's network?

Options: 
A- Device naming

B- software upgrade

C- Hardware expansion

D- Routing Protocol Configuration Changes

Answer: 
B, C, D

Question 10



Question Type: MultipleChoice

Which of the following information can the DHCP binding table contain?

Options: 
A- port andUDPport

B- MA, Caddress

C- IPaddress

D- lease time

Answer: 
B, C, D

Question 11
Question Type: MultipleChoice

The Discovery message of LDP is used for neighbor discovery, and LDP has different discovery mechanisms when discovering

neighbors. The following statement about the Discovery message in the basic discovery mechanism is correct



Options: 
A- TCPAfter the connection is establisheD. LSRdo not continue sendingHello Message

B- Purpose of the messageIPaddress is multicastIPaddress224.0.0.2

C- This message is encapsulated inUDPIn the message, the destination port number is646

D- The message is sent to the specifiedLDP Peer

Answer: 
B, C
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